Unit A Exam:  Biological Diversity
Review

Use the following graph to answer the next 3 questions.
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1)  What is the peak population of hares and lynx?


a.  500 hares, 10 lynx


b.  10 hares, 500 lynx


c.  50 hares, 3 lynx



d.  75 hares, 2 lynx

2) What type of interdependence between species is represented in this graph?

a. symbiosis

b. predator-prey

c. commensalisms

d. mutualism

3)  What is the responding variable in this situation?


a.  the year


b.  the climate


c.  the  number of lynx and hares

d.  the environment where the lynx and hares were located

Use the following chart to answer the next question:

	Organism
	Class
	Genus
	Phylum
	Species

	I
	Mammalia
	Castor
	Chordata
	canadensis

	II
	Mammalia
	Canis
	Chordata
	latrans

	III
	Mammalia
	Lutra
	Chordata
	canadensis

	IV
	Mammalia
	Canis
	Chordata
	lupus


4)  Given the information in the table above, which of the following organisms are most similar?


a.  I and II


b.  II and IV


c.  II and III


d.  I and III

Use the following diagram to answer the next question.
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5)  Which of the following is represented by the diagram above?


a.  production of egg cells


b.  production of gametes


c.  repair of skin cells


d.  development of an embryo
Use the following information to answer the next question.
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6)  Alberta farmers are raising high-quality cattle by using modern reproductive technologies such as

a. cloning

b. artificial insemination

c. genetic engineering

d. natural selection

Use the following information to answer the next question.

[image: image1.png]C—mwane~meS

Humber of Lynx

Typical Cycle of Lynx/Snowshoe Hare Populations

Number of Hores





7) Which of the above choices has been in use for the longest time period?
a. 1

b. 2

c. 3

d. 4

8)  An egg cell has the same number of chromosomes as
a. a zygote

b. an embryo

c. a sperm cell

d. a skin cell

Use the following information to answer the next question.
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9)  Of the causes of the extinction of animal species listed above, the three that could be natural causes are those numbered:

a. II, III, and IV

b. I, IV, and V

c. IV, V and VI

d. I, V, and VI

Use the following chart to answer the next question
	Organism
	Embryo
	Gamete
	After Meiosis

	Fruit fly
	8
	  i
	8


10)  The gamete of a fruit fly consists of _________ of chromosomes.

a. 2
b. 4

c. 8

d. 16

Use the following information to answer the next question.

Julia collected data on the structure of the human ear from four members of her class.
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	Name
	Type of Lobe

	Jen
	Attached lobe

	Joshua
	Free lobe

	Zoe
	Attached lobe

	Logan
	Free lobe


11)  Which of the following terms describe lobe traits?

a. Heritable characteristic and continuous variation

b. Heritable characteristic and discrete variation

c. Non-heritable characteristic and continuous variation

d. Non-heritable characteristic and discrete variation

12)  Which flower structure produces the male gamete?

a. Ovary

b. Stigma

c. Anther

d. Ovule

13)  Scientists can insert a particular gene into corn kernels in order to protect corn against insect pests.  This procedure is an example of 
a. Artificial selection

b. Artificial insemination

c. Selective breeding

d. Genetic engineering

14)  What is an advantage of asexual reproduction?

a. can reproduce by bringing specialized gametes together

b. can reproduce without bringing specialized gametes together

c. provides a large degree of variation

d. produces a limited number of offspring

Use the following pictures to answer the next question
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15)  Using the above information determine the characteristics of the father.
a. He is purebred black  ALTERNATIVE   b

b. He is purebred white   ALTERNATIVE  BB

c. He is a hybrid

ALTERNATIVE 
Bb

d. He is incomplete dominance 

16) Match the examples below with the type of “Strategy to Conserve Biological Diversity”


1. In-situ Conservation


2. The National Accord for the Protection of Species at Risk


3. Measures taken to control Purple loosestrife reproduction


4. Ex-situ Conservation

    ___________
___________
___________          ____________

 Protected Areas     
Resource Use                   Controlling the Spread           Conservation of Genetic 


    

Policies
                 of Exotic Species

  Resources

17)  Use the following information to answer the question below.
1)  Suzi went to Hair We Go Salon and got her hair dyed the same colour as her mother’s.
2)  Tim ate too much over the Christmas season and gained 5 kilograms.

3)  Joel has the same colour eyes as his grandmother.

4)  Jacque speaks French just like his parents.
If the characteristic is heritable, place the number 1 beside it.

If the characteristic is non heritable, place the number 2 beside it.

If the characteristic is a combination of heredity and environment, place the number 3 beside it.

_______________  ________________  _______________ _____________
Statement 1

Statement     2
     Statement 3
     Statement 4

18)  The structures in which the genetic material are arranged and a segment that determines a specific characteristic of an organism are, in that order:
a. chromosome, gene

b. gene, chromosome

c. DNA, gene

d. gene, DNA

19.  Which of the following does a scientists look at to better help understand variation?

A. genetics and environment

B. physical characteristics and survival techniques

C. color and environment

D. genetics and physical characteristics

20.  The greatest advantage of sexual reproduction is the 

A) continued existence of a species

B) production of large numbers of individuals

C) variety of organisms which can be produced

D) consistency of traits that will appear generation after generation

Use the following information to answer the next question




Pinegrove Community
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Forty years ago, Pinegrove acreages, on the outskirts of the city, was a small community of 15 houses in a forested area.  As time went by, the city grew and Pinegrove became part of the city.  Pinegrove grew from 15 houses to over 200 in the time shown in the graph.
21.  The Wood Brown Caterpillar and the Fuzzy Green Caterpillar both live in Pinegrove.  The above graph shows:

a. artificial selection

b. natural selection

c. mutualism

d. commensalism

22.  What likely accounted for the above change in population?
a. the Wood Brown Caterpillar was poisoned by insecticide in the development of the Pinegrove Community
b. the Fuzzy Green Caterpillar’s food supply disappeared with the growth of the community

c. the Fuzzy Green Caterpillar could no longer camouflage in its environment
d. the Wood Brown Caterpillar was becoming more important in its ecosystem
Use the following map to answer the next question
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23.  Russia is a large country compared to Kenya.  The variety of species found in Kenya is likely to be
a. larger than in Russia

b. smaller than in Russia

c. the same as in Russia

d. difficult to compare to Russia
Use the following list to answer the next question.

24.  Match each of the methods of reproduction listed above with the organism below that reproduces by that method.
______________   ____________  _______________   ________________
paramecium

apple tree

tulip

        fairy ring mushroom

Use the following diagrams to answer the next two questions.
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25. What process is occurring first in picture 1 and then in picture 2?

A. cleavage and embryo formation

B. embryo formation and cleavage

C. zygote formation and fertilization

D. fertilization and zygote formation

26. What process is occurring first in picture 3 and then in picture 4?

A. cleavage and embryo formation

B. embryo formation and cleavage

C. zygote formation and fertilization

D. fertilization and zygote formation

The beef industry in the USA and Canada depends on artificial reproductive technologies to produce cattle with high-quality meat.
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A cow with desirable traits is mated with a bull of similar traits.


Sperm from a bull and egg from a cow are placed in a Petri dish.  After fertilization, the embryo is implanted into the cow.


A sheep is cloned.


The phosphorescent gene is transplanted into a rabbit to give ir the ability to glow in the dark.





Six Causes of the Extinction of Animal Species


Loss of habitat as a result coal production


Introduction of non-native species


Over-hunting


Disease


Lightning strike forest fire


Starvation due to overpopulation
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This is Felix.


Felix has black fur.  Black fur is recessive to white fur.


Felix’s mother has white fur.
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This is Felix’s mother.
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Methods of Reproduction


Budding


Binary fission


Seed production


Bulbs
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